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I L. FLG 0.200 x  1.300 x 2 x 1 x 4 = 2.1 m?
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2 |*PL 320 x 22 320 13.971 28 [RING  |SM400A Net79%
S| /hEE 702 |ke
SHHLSY HEk 5616 |kg
DTFHRIITSHYy R (Frh—-FKRILEF)
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T#5~ <  BASE 1.100 x  0.800 x 2 x 1 x 8 = 14. 1 m?
I U. FLG 0.538 x  0.800 x 2 x 1 x 8 6.9 m?
I L. FLG 0.200 x  0.800 x 2 x 1 x 8 2.6 m
I RIB 0.528 x 1.046 x 0.92 x 2 x 4 x 8 32.5 m?
I RING 0.320 x 0.320 x 0.79 x 2 x 2 x 8 2.6 m
IR EUT BASE 0.330 x 0.510 x 2 x 1 x 8 2.7 m?
TEES TOP 0.270 x  0.600 x 2 x 1 x 8 2.6 m?
HrfioR L. FLG 0.120 x  0.105 x 2 x 4 x 8 0.8 m?
I WEB 0.1056 x 0.185 x 0.76 x 2 x 4 x 8 0.9 m?
I CONN 0.120 x  0.175 x 2 x 4 x 8 1.3 m?
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& (m) £ & () Net [if] e #H
Mt oR WEB 0.106 x 0.18 x 0.76 x 2 x 4 x 8 0.9 m?
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[HifE (mf) (K) [if] K HH
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A3 = 0.2 m?
5) iRiERIEARmE SPLA+EHTRI—21H & 5.
& (m) £ & () Net [if] e #H
HroR L. FLG 0.120 x  0.105 x 2 x 4 x 8 = 0.8 m?
I CONN 0.120 x  0.175 x 2 x 4 x 8 = 1.3 m?
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6) BEMIEEST (M)
BRI TE P | B ) HE
BRI HTALEE J?*))w FA KT T, 7 — Al 67.0
T | e
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N N ST F-11  [A3 0.2
T L i F-12
e PANI] A2 + A3 1.1
=R Iji]ﬁ
UsHER e [ BERRY )y A AV T A4 2.1




(4) RiZFLEAIT T

fiEl #
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(7 x 0.061 % 4 x 0.625 - m x 0.041 %/ 4 x 0.625 )

X 64 AR x 1200 kg/m®
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x 0.800 x 0.005
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1 [+PL 850 x 1300 | 277.576 278 |BASE  |SM400A
1 [*PL 458 x 36 1300 | 168.260 168 [U.FLG |SM400B
1 [*PL 200 x 22 1300 44,902 45 |L.FLG |SM400A
6 |*PL 448 x 22 782 58. 083 348 |RIB SM400A Net96%
2 |*PL 320 x 22 320 13.971 28 [RING  |SM400A Net79%
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4505y HEk 3468 |kg
DTFHRIITSHYy R (Frh—-FKRILEF)
12 [pB D 41 740 7.770 93 [7vh-  |SD345
12 [#NUT M 39 0.506 6 [1FEFyh [SS400
12 [#NUT M 39 0.375 5 [3FfTyh [SS400
12 [*ws M 39 0.126 2 |7yvv— |SS400
15y NE 106 |keg
44855 HE 424 kg
) EETEFITTL— bk 1K 4y
1 |pL 370 x 9 330 8. 626 9 [BASE  [SS400
ll(‘E.ﬁj\ /J‘n+ 9 kg
441571 HE 36 |kg
4) 'F“BIHS(H +7L—F 1R
*PL, 330 x 36 600 55. 955 56 |TOP SS400
6 *BT M 24 120 0. 528 3 |V R |HEEX4)8. 8
6 [*NUT M 24 0.110 1 |1FEfy b |SS400
6 [*SWS M 24 0.035 1 [S7yv4— [SS400
12 [*ws M 24 0. 035 1 [79v4—  [SS400
158 AN 62 |kg
4457 HEF 248 |kg
5) Hr4@5R LK%y
4 |pL 140 x = 22 105 2.539 10 |L.FLG [SM400A
4 [PL 105 x 22 185 2. 550 10 |WEB SM400A Net76%
4 [PL 120 x 22 175 3. 627 15 [CONN  [SM400A
4 [TCB M 22 90 0. 583 2 [CONN  [S10T
LSy /DEF 37 |ke
45055 HEk 148 |kg
44850 At 4324 kg
EE) XYV A v E & LRy
12 [pB D 41 125 1.313 16 |7vh- A > ¥HDZ35
| /hEE 16 |ke
4457 HE 64 |kg




*EIE A > M 2R

~114 (mm)

=N

'H = (kg)

= A BT

o R ES |fice )] AR | B | ME ks
R
SM400B PL t= 36 672 |ke
SM400A PL t= 32 1112 |ke
SM400A PL t= 22 1824 |kg
$S400 PL t= 36 224 |ke
$S400 PL t= 9 36 |ke
SD345 DB D 41 372 |ke
S10T TCB Mo o22 L = 90 8 |ke 16 &
BRAE[X 458, 8 *BT M 24 L = 120 12 |ke 24 f#| A > *HDZ35
$S400 *NUT M 39 1Ty b 24 |kg 48 |2 -~ *HDZ35
$S400 *NUT M 39 3FESy b 20 |kg 48 |2 ~ *HDZ35
SS400 *NUT M 24 1ty b 4 |ke 24 A{#[ A > *HDZ35
$S400 *WS Mo 39 DyYy— 8 |ke 48 | # » *HDZ35
$S400 *WS M 24 Dy y— 4 |ke 48 | # » *HDZ35
SS400 *SWS M 24 SUyyq— 4 |kg 24 |2~ *HDZ35

it 4324 [kg
WRL7 5 7 > RN, g A v % 4176 [3468 + 424 + 36 + 248
o (Hraiss & ) C-5 148




() ZXRmEIE

THIENZH Y S EM OBIEEmAIL, THE 0 BENTH LT 2,

1) ®ETE
g (m) £ & () Net [ifl] B HH
¥~ <  BASE 0.850 x  1.300 x 2 x 1 x 4 = 8.8 m
I U. FLG 0.458 x  1.300 x 2 x 1 x 4 4.8 m?
I L. FLG 0.200 x  1.300 x 2 x 1 x 4 2.1 m?
I RIB 0.448 x 0.782 x 0.96 x 2 x 6 x 4 16.1 m?
I RING 0.320 x  0.320 x 0.79 x 2 x 2 x 4 1.3 m
EFELfT BASE 0.370 x  0.330 x 2 x 1 x 4 1.0 m?
TES ST TOP 0.330 x  0.600 x 2 x 1 x 4 1.6 m?
Hrfiiom L. FLG 0.140 x  0.105 x 2 x 4 x 4 0.5 m?
I WEB 0.105 x 0.185 x 0.76 x 2 x 4 x 4 0.5 m?
I CONN 0.120 x  0.175 x 2 x 4 x 4 0.7 m?
Al = 37. 4 m?
) ZHBART QS L) FEHFHEE T, SRR 00 & V) 50mmFRE OFIPE & T 5,
i (m) E(m) Net i} B i
EESEUST BASE % 0.300 x  0.430 x | x 1 x 4 = 0.5 m?
Hrfitiom L. FLG 0.240 x * 0.146 x 1 x 4 x 4 0.6 m?
N CONN 0.220 x * 0.267 x 1 x 4 x 4 0.9 m?
*CADFHIE A = 2.0 m?
3) IRE SR (4hm)
g (m) £ & () Net [if] 5 HH
Hrfiti ol WEB 0.106 x 0.185 x 0.76 x 2 x 4 x 4 = 0.
A2 = 0.

4) 8L +EB (44 )
1 fE (m”) (A) i} A #H

Hrfitioh CONN 5,06 / 1000 x 1 x 4 x 4 = 0.
A3 = 0.
5) A EEREAE SPLAAI+FEH T —21 & § 5,
g (m) £ & () Net i) 5 HH
Hrfiti ol L. FLG 0.140 x  0.105 x 2 x 4 x 4 = 0
I CONN 0.120 x  0.175 x 2 x 4 x 4 = 0
A = 1

6) FEEIAKET ()

AL AT | RALX Sy FR Y
BENAE R 7 AT 7~ — AL 37.4
A o C-5
EI~‘7"§ 7 37 57*@ F_ll A2 0. 5
ﬁbﬁ{d\j‘ﬁﬂﬂ Iji]ﬁ F_lz
. = 4] F-11 A3 0.1
sy | M N F-12
e St A2 + A3 0.6
]
iR TERRY V)V oy A AN T |A4 1.2




(4) RiZFLEAIT T

18l A
¢ 314L L. FLG 4 x 4
¢ 24. 51L WEB 4 x 4
®G)arvy—rHEIAE
(mm)  fLE & (mm) 1= HH
T H—RV b ¢ bl x 625 12 x 4 =
6)FAM (ZRFIBER) (mxEEFT vy 1.2 t/m* )
AL (m) LEZ (m) T —tm T —Em
(7 x 0.061 % 4 x 0.625 - m x 0.041 %/ 4 x 0.625 )

x 48 AR x 1200 kg/m®

(7) #&fRE/ N7 #1 (t=5mm) (mRAEEP 4 =

1.7 t/m* )

i (m) kam E&

i (m) L
T#3~7"<  BASE 0.850 x 1.300 x 0.005

X 4 x 1700 kg/m®

@®arr)—+rRELEI (FvELITER)

& (m) S (m)
TH~7 2  BASE

#H
0.850 x 1.300 X 4 =
9) S AiEE @A
& (m) £ & () HH
T#3~7"<  BASE 0.850 x 1.300 X 4

(10) >— Lt

& (m) = & (m) HH
( 1.300 + 0.850 )x 2 X 4

16 &
16 f&ifr

48 A

26.0 kg

38 kg

4.4 m?

4.4 m?

17.2m



§ 3 ZBMILEE



3.1 AMEE. PIEH. A25E
(DPCr—T L (B &R)

F100TDU &5t = 16 &
L=2. 562m Al = 4 J
1.=2. 704m P A = 4 %
L=2. 785m P1#& SR = 4 H
L=2. 653m A2 = 4 J

(2) M+ =
*E1IE A y%%ﬁﬁ%ﬁ;ﬂ) T )
PO=R ¥ (mm & (kg N i
NDERITTS45wy b 15y
2 |PL 78 x 22 457. 1 5. 480 11 |RIBiY i [SM400A Net89%
2 |PL 350 x 22 522. 7 29. 383 59 |WEB SM400A Net93%
2 |PL 148 x 22 496. 7 11. 045 22 |STDE  |SM400A Net87%
2 |PL 50 x 22 200. 0 1. 727 3 |RIB_E T [SM400A
1 [pPL 200 x 22 340. 0 11. 744 12 |FLGE  |SM400A
1 [pPL 150 x 22 200. 0 5. 181 5 |FLGF  |SM400A
1 [pPL 471 x = 22 540. 0 43. 925 44 |FLGTY f] |SM400A
1 [pPL 490 x 32 570. 0 70. 160 70 |BASE  |SM400A
8 |TCB M 22 105. 0 0. 680 51 » S10T 209y 4—
8 |TCB M 22 100. 0 0.613 51 » S10T
IE N N 236 |kg
165405y HEk 3776 |keg
2)1mﬁ§§ LEHL4Y
255 x 22 490 21. 579 43 |L.FLG  |SM400A
4 PL 245 x 22 340 11.077 44 |WEB SM400A Net77%
4 |PL 190 x 22 305 10. 008 40 |CONN  |SM400A
2 |PL 130 x 10 490 5. 000 10 [FILL  [SS400
16 |TCB M 22 90 0. 583 9 [CONN  [S10T
155 sINEF 146 |kg
IS 2336 |kg
16585 &t 6112 [kg
Wk
SM400A PL t= 32 1120 |ke
SM400A PL t= 22 4528 |kg
SS400 PL t= 10 160 |ke
S10T TCB M 22 |L = 105 80 |ke 128 A
S10T TCB M 22 |L = 100 80 |ke 128 A
S10T TCB M 22 |[L = 90 144 |ke 256 A
a3 6112 [ke
Al 1528
LT 7 o N RUER 5 Plf&m ]| 1528 6112 / 4
o (HreissE o) K | 1528
A2 1528




() ZXRmEIE

1) ®ETE
& (m) EX(m) Net i) e HH.

FE#~75 RIBEMm 0.078 x 0.457 x 0.89 x 2 x 2 x 16 = 2.0 m?
I WEB 0.350 x 0.523 x 0.93 x 2 x 2 x 16 = 10. 9 m?

I STDE 0.148 x 0.497 x 0.87 x 2 x 2 x 16 = 4.1 m?

I RIBETF  0.050 x  0.200 x 2 x 2 x 16 = 0.6 m?

I FLG_ |- 0.200 x  0.340 x 2 x 1 x 16 = 2.2 m?

I FLG T 0.150 x  0.200 x 2 x 1 x 16 = 1.0 m?

I FLGEYM  0.471 x  0.540 x 2 x 1 x 16 = 8.1 m?

I BASE 0.490 x  0.570 x 2 x 1 x 16 = 8.9 m?
Hrfiiom L. FLG 0.255 x  0.490 x 2 x 2 x 16 = 8.0 m
I WEB 0.245 x  0.340 x 0.77 x 2 x 4 x 16 = 8.2 m?

I CONN 0.190 x  0.305 x 2 x 4 x 16 = 7.4 md

I FILL 0.130 x  0.490 x 2 x 2 x 16 = 4.1 m?
Al = 65.5 m

) RBHEARERT QFES L) PR L SR O JE Y 50mmEREE DFIPH & T 5,

i (m) £ (m) Net i e #H
E¥#~7Z  BASE 0.590 x 0.570 x 1 x 1 x 16 = 5.4 m?
HifdoR L.FLG % 0.281 x  0.590 x 1 x 2 x 16 = 5.3 m?
I CONN 0.290 x  0.405 x 1 x 4 x 16 = 7.5 m?
*CADFHIE A2 = 18. 2 m?

3) BIGARERR (SVE)  EAMTHEICHY S < FBM OBIEEAEIL, FHTB Y B BIEN TR LT,

i (m) £ & (m) Net [id] e #H.
HrfioR WEB 0.245 x  0.340 x 0.77 x 2 x 4 x 16 = 8.2 m?
A2 = 8.2 m?
4)7RJL +ER (44 m)
[HiAE (mf) (K) [if] K HH
k72  L.FLG 5,06 / 1000 x 1 x 8 x 16 = 0.6 m?
I I 5.06 / 1000 x 1 x 8 x 16 = 0.6 m?
HitifioR CONN 5,06/ 1000 x 1 x 16 x 16 = 1.3 m
A3 = 2.5 m?
5) iRiERIEARmE SPLA+EHTRI—21H & 5.
i (m) £ & (m) Net [id] e A,
HroR BASE 0.490 x  0.570 x 2 x 1 x 16 = 8.9 m?
I FILL 0.130 x  0.490 x 2 x 2 x 16 = 4.1 m?
A = 13.0 m?
6) BEMEEST ()
RIS P | B ) atE
BIERAEE |[JFR T T A K- T T A ~— Al 65. 5
Tk e St i C-5
3 =< X R mﬁ D_5
S PANI] F-11 A2 8.2
N N ST F-11  [A3 2.5
T T N F-12
A= PANIA] A2 + A3 10. 7
= ﬂ+ Iji]ﬁ
N Y /Ty ~ AVF T |A4 13.0




(4) JRiZFLEAIT T

$ 24. 5L L.FLG + WEB ( 8 + 16 )x 16 = 384 & PT



